
Europa Parts Catalogue
2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

06-03600 TAIL WHEEL £44.84 EACH

06-15400 CONNECTOR CLIP £2.91 EACH

06-654 XS SILENCER SPRING £4.50 EACH

06-654C OLD ROUND CLASSIC EXHAUST SPRING £4.90 EACH

06-655 CLASSIC SILENCER SPRING £4.50 EACH

1"HOSE 1" BORE FUEL HOSE TYPE 16 UNIVERSAL £0.70 INCH

1/4 turn fastener 1/4 TURN FASTENER KIT £6.38 EACH

12-12000 NO 2 SWAGE IT TOOL £29.50 EACH

122BMC BRAKE MASTER CYLINDER £63.00 EACH

122BPAB BRAKE PIPE ASSEMBLE £15.60 EACH

122BPAC BRAKE PIPE ANGLE CONNECTOR £4.25 EACH

1460 BRONZE WINDSCREEN BRONZE £375.00 EACH

1460 SOLAR GRAY WINDSCREEN £437.83 EACH

1461 BRONZE PORT WINDOW £336.25 EACH

1461 SOLAR GRAY PORT WINDOW £336.25 EACH

1462 BRONZE STBD WINDOW BRONZE £336.25 EACH

1462 SOLAR GRAY STARBOARD WINDOW £336.25 EACH

175-601-208 5/16" FORK - 1/4" PIN £15.85 EACH

17-7088 CUP SEAL - FINGER BRAKE £2.42 EACH

17-7294 LIP SEAL - FINGER BRAKE £3.49 EACH

2-222 BRAKE CALIPER 0-RING DTD585 £0.90 EACH

2-222EP O RING FOR BRAKE CALIPER DOT 3/4 £1.08 EACH

227-996 TY-RAP BASE £0.20 EACH

230 150 GASKET RING £0.49 EACH

243 THREADLOCK ADHESIVE (10ML) £12.36 EACH

261-306 DIODE £0.86 EACH

261UB-04 BRASS NUT FOR 268P £1.05 EACH

264P-04 1/4" UNION TEE £10.07 EACH

268P-04X02 BRASS MALE STRAIGHT CONNECTOR £3.53 EACH

269P-04X02 90º BRAKE ELBOW FITTING £4.47 EACH

291-600 HOSE CLIP 9.1MM-11.0MM £0.79 EACH

291-616 NYLON PIPE CLIP £0.72 EACH

291-638 HOSE CLIP 12.2MM - 14.8MM £0.80 EACH

317-443 PRESSURE SWITCHES £33.80 EACH

317-594 TCU CONTROL (DPDT) LATCHING SWITCH £10.70 EACH

317-601 LATCHING TOGGLE SWITCH FOR ROTAX 914 TCU SERVO £13.10 EACH

320-017 FUEL PUMP SWITCH SPST £1.35 EACH

320-225 ALTERNATOR SWITCH SPST £2.35 EACH

33-2564 K&N AIR FILTER £48.00 EACH

332C016 3/8" UNC HEX NUT £0.05 EACH

381-8999 CAPACITOR 22000UF £15.90 EACH

428-3-VG NICROPRESS SLEEVE £0.48 EACH

4-360-07U 2 1/4" FUEL PRESSURE GAUGE POA EACH

45284 SPIROL PIN  4MM X 20MM HBK £0.24 EACH

4BLPR2.00 PIP PIN 1/4" DIA X 2" LONG £13.75 EACH

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

50-613-7612 XS OIL COOLER £138.65 EACH

576-513 INDICATOR LAMP - RED £3.05 EACH

576-529 INDICATOR LAMP - AMBER £3.05 EACH

5MIN  ARALDITE 2012 RAPID EPOXY 30ML £8.66 EACH

603 LOCTITE 603 - 10ML £10.85 EACH

622-177 CABLE TIE - MEDIUM £0.22 EACH

638 LOCTITE 638 BEARING RETAINER 10ML £10.30 EACH

6380-3RM 3MM THICK BROWN FOAM £77.43 M SQ

6380-5RM 6380 FOAM -  100" X 45" - 5MM £71.71 M SQ

6443 WINTER ASI WITH XS MARKING 80MM POA EACH

6749 FUEL SHUT-OFF VALVE £24.24 EACH

7443 ASI WITH XS MARKINGS - 57MM POA EACH

7X7 2.5MM DIA CABLE ST ST £0.41 FEET

811-800 MASTER SWITCH DPST £2.95 EACH

825701 ROTAX OIL FILTER £9.60 EACH

87-1022 CLASSIC EXHAUST SYSTEM £975.00 EACH

897255 ROTAX SPARK PLUG 912 UL £5.75 EACH

897257 ROTAX SPARK PLUG 912 ULS £5.75 EACH

912 FPG PLUMBING 912/912S FUEL PRESSURE GAUGE PLUMBING KIT £17.50 EACH

912 UL 912 UL POA EACH

912 ULS 912 ULS WITH SLIPPER CLUTCH & LARGE STARTER POA EACH

912 VDO LABEL SET 912 VDO PANEL ADDITIONAL LABEL SET £11.00 EACH

912S/914 VDO LAB SET 912S/914 VDO PANEL ADDITIONAL LABELS SET £11.60 EACH

914 FPG PLUMBING 914 FUEL PRESSURE GAUGE PLUMBING KIT £51.91 EACH

914 UL 914 UL TURBO ENGINE (INC ENGINE MOUNT) POA EACH

92125 BIDIRECTIONAL GLASS CLOTH £6.95 METRE

92145 UNIDIRECTIONAL GLASS CLOTH £6.96 METRE

93A 302A SWITCH (FOR FLAP ACTUATOR) £26.01 EACH

940 873 BANJO BOLT M10X1X30 £6.17 EACH

956 314 HOSE NIPPLE 4/6 £11.27 EACH

963 145 IDLE JET £17.36 EACH

A31 1.2MM ROD A31 WELDING ROD £0.20 EACH

A-600 HYDRAULIC BRAKE RESERVOIR £26.73 EACH

AGS 1551-3 SAFETY PIN £0.46 EACH

AIC040604 OILITE BUSH - 1/4 X 3/8 X 1/4 £0.80 EACH

AIC060816 OILITE BUSH - 1/2 X 3/8 X 1 £2.88 EACH

AIC060820 OILITE BUSH - 1/2 X 3/8 X 1.25 £2.28 EACH

AIC162012 OILITE BUSH 1" X 1 1/4" X 3/4" £3.48 EACH

AJ050804 HEADED BUSH £1.82 EACH

AJ050808 HEADED BUSH £1.90 EACH

AK-REV0 ANTENNA KIT @ 01/07/95 £21.00 EACH

ALT 10000 2.25 ALTIMETER 10000FT 2.25" DIA POA EACH

ALT 20000 2.25 ALTIMETER 20000FT 2.25" DIA POA EACH

AMPREG AMPREG 21 RESIN & STD HARDENER 3.6KG PACK £94.50 EACH

AMPREG S AMPREG 21 RESIN & SLOW HARDENER 3.6KG PACK £94.50 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

AN100-C4 RUDDER CABLE THIMBLE £0.39 EACH

AN115-21 SHACKLE £14.01 EACH

AN210-2A RUDDER CABLE PULLEY £17.35 EACH

AN310-4 NUT - CASTELLATED £0.55 EACH

AN310-5 NUT - CASTELLATED £1.34 EACH

AN310-8 1/2" UNF CASTLE NUT £1.30 EACH

AN3-10A BOLT £0.28 EACH

AN3-11A BOLT £0.29 EACH

AN3-12A BOLT £0.31 EACH

AN3-13A BOLT £0.32 EACH

AN3-14A BOLT £1.92 EACH

AN3-15A BOLT £0.30 EACH

AN316-4R CHECKNUT £0.30 EACH

AN316-5R CHECKNUT £0.21 EACH

AN316-8 CHECK NUT 1/2" UNF £1.37 EACH

AN3-17A BOLT £0.34 EACH

AN3-20A BOLT £0.38 EACH

AN3-21A BOLT £0.51 EACH

AN3-23A BOLT £0.69 EACH

AN3-27A BOLT £0.94 EACH

AN3-3A BOLT £0.16 EACH

AN3-4A BOLT £0.16 EACH

AN3-5A BOLT £0.23 EACH

AN363-428 1/4" STIFFNUT £0.37 EACH

AN3-6A BOLT £0.19 EACH

AN3-7A BOLT £0.30 EACH

AN4-10 BOLT £0.53 EACH

AN4-10A BOLT £0.36 EACH

AN4-11. BOLT £0.83 EACH

AN4-11A BOLT £0.54 EACH

AN4-12A BOLT £0.34 EACH

AN4-13A BOLT £0.41 EACH

AN4-14A BOLT £0.43 EACH

AN4-15A BOLT £0.40 EACH

AN4-16A BOLT £0.50 EACH

AN4-17A BOLT £0.96 EACH

AN4-20 BOLT £1.26 EACH

AN4-20A BOLT £0.50 EACH

AN4-21 BOLT £1.62 EACH

AN4-23 BOLT £1.10 EACH

AN4-31A BOLT £1.09 EACH

AN4-32 BOLT £1.34 EACH

AN4-5A BOLT £0.43 EACH

AN4-6A BOLT £0.43 EACH

AN470-AD4-10 RIVET £0.06 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

AN470-AD4-7 RIVET £0.06 EACH

AN4-7A BOLT £0.31 EACH

AN486-2P FORK ROD END £11.42 EACH

AN490HT10P THREADED INSERT £16.91 EACH

AN490HT11P THREADED INSERT £6.19 EACH

AN490HT8P THREADED INSERT £17.40 EACH

AN4H-22A UNF 2-9/32 DRILLED HD BOLT £1.68 EACH

AN5- 23 BOLT £1.63 EACH

AN5-10A BOLT £0.35 EACH

AN5-11A BOLT £0.51 EACH

AN5-12A BOLT £0.50 EACH

AN5-16A BOLT £1.62 EACH

AN5-17A BOLT £0.63 EACH

AN5-21A BOLT £1.00 EACH

AN5-23 BOLT £1.04 EACH

AN5-23A BOLT £1.06 EACH

AN525-10R10 SCREW £0.18 EACH

AN525-10R12 SCREW £0.28 EACH

AN525-10R14 SCREW £0.31 EACH

AN525-10R16 SCREW £0.32 EACH

AN525-10R28 SCREW £0.10 EACH

AN525-10R30 SCREW £0.15 EACH

AN525-10R8 SCREW £0.24 EACH

AN526C1032R8 SCREW £0.19 EACH

AN5-40 BOLT £3.96 EACH

AN5-41 BOLT £4.73 EACH

AN5-5A BOLT £0.50 EACH

AN960-10 WASHER £0.05 EACH

AN960-10L WASHER £0.04 EACH

AN960-2016 TG MAIN GEAR AXLE WASHER £2.36 EACH

AN960-416 WASHER £0.04 EACH

AN960-416L WASHER £0.08 EACH

AN960-516 WASHER £0.09 EACH

AN960-516L WASHER £0.08 EACH

AN960-8 WASHER £0.03 EACH

AN960-816L SHIM WASHER £0.07 EACH

AN970-3 WASHER £0.12 EACH

AN970-4 WASHER £0.15 EACH

APCSC AIRMASTER PROPELLER CLASSIC CONSTANT SPEED POA EACH

APCSCTP AIRMASTER PROPELLER CLASSIC CONSTANT SPEED -TAPERED BLADES POA EACH

APCSXS AIRMASTER PROPELLER (XS) CONSTANT SPEED STD BLADES POA EACH

APCSXS/NB AIRMASTER PROPELLER XS CONSTANT SPEED  NO BLADES POA EACH

APCSXSTP AIRMASTER PROPELLER (XS) CONSTANT SPEED -TAPERED BLADES POA EACH

AP-P0074 AIRMASTER BLADE FERRULE POA EACH

AP-P0096 WARP DRIVE STD BLADE NICKEL EDGE (3 BLADES) POA EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

AP-P0187 BRUSHES FOR AP308 HUB £4.15 EACH

AP-P0187 BRUSHES FOR AP332 PROPELLER £4.30 EACH

ASI 180 2.25 ASI 180 KTS 2.25" DIA POA EACH

B01P PORT BRAKE MASTER MTG BRACKET £20.47 EACH

B01S STBD BRAKE MASTER MTG BRACKET £20.47 EACH

B02 BRAKE PEDAL LEVER £4.11 EACH

B03 BRAKE PEDAL MTG PLATE £1.47 EACH

B04 BRAKE PEDAL MTG £2.00 EACH

B05 BRAKE PEDAL MTG BKT TOP PLATE £3.50 EACH

B06 BRAKE LEVER TRI-GEAR £27.06 EACH

B07 INNER BRAKE LEVER TRI-GEAR £16.08 EACH

B08 OUTER KNOB - HANDBRAKE £7.18 EACH

B09 INNER KNOB - HANDBRAKE £5.11 EACH

B10 PARKING BRAKE LEVER £4.50 EACH

B11 PARKING BRAKE KNOB £4.21 EACH

B12 PARKING BRAKE MTG BRACKET £6.67 EACH

B13 SLOTTED PLATE - PARK BRAKE £3.05 EACH

B14 COVER PLATE (912 ENG) £5.65 EACH

B15 FRONT MOUNTING £19.08 EACH

B16 REAR MOUNTING £16.27 EACH

B17 PIVOT £7.73 EACH

B18 SPACER £3.74 EACH

B19 SPACER £6.07 EACH

B1RM 10 MM DIA AL ROUND BAR £2.19 METRE

B20 SPACER £8.21 EACH

B21 SPACER £6.79 EACH

B22 PARK BRAKE BRACKET £12.63 EACH

B23 PARK BRAKE LEVER £3.60 EACH

B24 SLOTTED PLATE - PARK BRAKE (914 ENG) £4.29 EACH

B4RM 6082-TF 3/8" X 3/16" FLAT BAR £9.50 METRE

BATTERY TRAY ASSEMBY BATTERY TRAY AND STRAP £66.99 EACH

BC4W10 BEARING £26.05 EACH

BEA1001/1.6M XS CHOKE CABLE £29.38 EACH

BERINGER WHEEL BERINGER WHEEL & BRAKE SYSTEM - MONO £1,514.35 EACH

BLS4R11N PIP PIN £33.30 EACH

BLS4R17N PIP PIN £36.23 EACH

BLS4R18N PIP PIN £34.37 EACH

BRAKE BLEED KIT BRAKE BLEEDING KIT £12.50 EACH

BRAKE PAD EUROPA BRAKE PAD £7.65 EACH

BRAKE RIVET BRAKE PAD RIVET LONG £0.22 EACH

BRAKE RIVET (S) BRAKE PAD RIVET SHORT £0.19 EACH

BRAKE RIVET PUNCH BRAKE RIVET PUNCH SET £36.65 EACH

BRS1959 DOOR SEAL SECTION £0.20 INCH

BRUSH-1" 1" WIDE LAMINATING BRUSH £1.08 EACH

BRUSH-2" 2" WIDE LAMINATING BRUSH £1.42 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

BS 010 EP O RING SEAL £0.28 EACH

BS 214 NITRILE O RING £0.33 EACH

BS113 NITRILE O'RING FOR 122BMC DTD585 £0.21 EACH

BS116 BRAKE PIPE (BLACK PLASTIC) £2.59 METRE

BS120 SPRING NUT (FOR BRAKE PIPE) £4.75 EACH

BULB 5/16" PRIMER BULB £20.02 EACH

C01 INLET HOSE - COOLING RADIATOR £48.05 EACH

C02 OUTLET HOSE - COOLING RADIATOR £45.55 EACH

C03 CLASSIC RADIATOR HOSE £21.50 EACH

C04 SILICONE XS RADIATOR HOSE £35.94 EACH

C05 RADIATOR HOSE £29.13 EACH

C05 SILICONE XS RADIATOR HOSE £37.62 EACH

C06 SILICONE XS OIL COOLER HOSE £47.50 EACH

CASTLE NUT 1/2" UNF CASTLELATED NUT £2.88 EACH

CAV-110 SAF-AIR DRAIN VALVE £20.11 EACH

CB-10A-R 10 AMP CIRCUIT BREAKER - ROUND £27.95 EACH

CB-1A-R 1 AMP CIRCUIT BREAKER - ROUND £27.95 EACH

CB-1A-S 1 AMP CIRCUIT BREAKER - SQUARE £19.95 EACH

CB-25A-R 25 AMP CIRCUIT BREAKER - ROUND £49.50 EACH

CB-2A-R 2 AMP CIRCUIT BREAKER - ROUND £27.95 EACH

CB-2A-S 2 AMP CIRCUIT BREAKER - SQUARE £19.95 EACH

CB-5A-S 5 AMP CIRCUIT BREAKER - SQUARE £19.95 EACH

CB-8A-S 8 AMP CIRCUIT BREAKER - SQUARE £9.50 EACH

CD1 TOP PLATE £40.00 EACH

CD1-912S TOP PLATE - 912S £74.05 EACH

CD1-914 TOP PLATE - 914 £74.05 EACH

CD2 STARBOARD SIDE PLATE £72.25 EACH

CD3 PORT SIDE PLATE £72.25 EACH

CD4 STARBOARD MOUNTING PLATE £37.00 EACH

CD5 PORT MOUNTING PLATE £38.99 EACH

CD6 PLENUM CHAMBER MAIN PLATE £43.75 EACH

CD7 PLENUM CHAMBER TOP PLATE £16.00 EACH

CD8 EXHAUST HEAT SHIELD £15.00 EACH

CH-912-3 CARB HEAT KIT 912-912S-914 £220.00 EACH

CK3125-H CHECK VALVE - 5/16" HOSE £45.00 EACH

CLASSIC SPINNER KIT CLASSIC SPINNER KIT £243.00 EACH

CLECO TEMPORARY FASTENER £0.93 EACH

CLIP00 13 - 20 MM HOSE CLIP £0.64 EACH

CLIP000 HOSE CLIP 000 - 9.5 - 12 MM £0.50 EACH

CLIP0X 19 - 25 MM HOSE CLIP £0.63 EACH

CLIP1 25 - 35 MM HOSE CLIP £0.82 EACH

CLIP1X 35 - 45 MM HOSE CLIP £1.22 EACH

CLIP3 FUEL FILLER HOSE CLIP £0.91 EACH

CLIP6X 130 - 150 MM HOSE CLIP £1.49 EACH

CLIPM00 M00 HOSE CLIP £0.39 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

CS01 CONTROL COLUMN BOTTOM FITTING £40.42 EACH

CS02 CONTROL COLUMN FORK £67.44 EACH

CS03 BUSH £15.60 EACH

CS04 TUFNOL BEARING £6.30 EACH

CS05 AILERON TORQUE TUBE 1.25 X .049 X 26 £31.13 EACH

CS06 TUFNOL BEARING £6.51 EACH

CS07 AILERON TORQUE TUBE REAR BUSH £36.81 EACH

CS08 CRANK £24.67 EACH

CS09/3 PITCH CROSS TUBE BRACKET £5.90 EACH

CS09B ASSY SELF ALINGING BEARING ASSEMBLY £45.29 EACH

CS09C SPACER £8.29 EACH

CS10/2 PITCH CROSS TUBE (POST MOD 76) £415.75 EACH

CS11/1 .625 X .035 X 25.5 FWD PITCH PUSHROD £38.99 EACH

CS12 AILERON LINK ROD 0.5 X 0.035 X 21.85 £22.50 EACH

CS13 AILERON PUSHROD 0.5 X 0.035 £14.27 EACH

CS14P AILERON QUICK CONNECT BRACKET PORT £29.02 EACH

CS14S AILERON QUICK CONNECT BRACKET STARBOARD £29.02 EACH

CS15P BELLCRANK - PORT £18.57 EACH

CS15S BELLCRANK - STARBOARD £18.57 EACH

CS16 CONTROL COLUMN CRANKED £45.14 EACH

CS16B TUFNOL SPACER FOR CS16 £25.20 EACH

CS17-1 PITCH AFT PUSHROD 6061-T6-1.75" x .049"-96" LONG £385.00 EACH

CS17A PITCH AFT PUSHROD END FITTING £27.39 EACH

CS18 RUDDER PEDAL - OUTER £54.67 EACH

CS19 RUDDER PEDAL - INNER £73.61 EACH

CS19A RUDDER PEDAL BEARING WASHER £2.61 EACH

CS20 RUDDER PEDAL FLANGE £1.66 EACH

CS21/2 RUDDER PEDAL CRANK £2.74 EACH

CS22 RUDDER PEDAL HALF BEARING INBOARD £3.60 EACH

CS23 RUDDER PEDAL HALF BEARING OUTBOARD £3.60 EACH

CS28 RUDDER PUSHROD 0.5 X 0.035 X 21.5 £7.68 EACH

CS29M77 MOD 77 RUDDER PUSH ROD FITTING £35.00 EACH

CS31 RUDDER PEDAL REINFORCING TUBE £3.19 EACH

CS32 BULKHEAD BRACKET £14.28 EACH

CS33 STEERING ARM £14.40 EACH

CS34 TAILWHEEL HORN £12.00 EACH

CS35 TAILWHEEL LIMIT STOP £48.00 EACH

CS36 ACTUATING ARM - ROLL SERVO £20.40 EACH

CS37A SPACER TUBE £7.86 EACH

CS37B SPACER TUBE £6.57 EACH

CS37C SPACER TUBE £6.29 EACH

CS38 PUSHROD - MOD 77 £14.54 EACH

DAMPER HYDRAULIC REBOUND DAMPER POA EACH

DCPR7E 912 UL SPARK PLUG £5.75 EACH

DCPR8E 912 ULS SPARK PLUG £5.75 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

DECAL - NO PUSH DECAL - NO PUSH RED £3.75 EACH

DECAL - NO STEP DECAL - NO STEP RED £3.75 EACH

DL01 OUTER HANDLE £2.57 EACH

DL02A DOOR LATCH PLATE £2.45 EACH

DL02B BUSH £2.67 EACH

DL02C GUIDE ROD £2.74 EACH

DL02P DOOR LATCH MTG PLATE - PORT £31.93 EACH

DL02S DOOR LATCH MTG PLATE - STBD £31.93 EACH

DL03 INNER HANDLE £2.60 EACH

DL04 SPINDLE £13.81 EACH

DL04 LARGE SPINDLE £1.70 EACH

DL05 SPRING GUIDE £7.24 EACH

DL06 SHOOT BOLT £5.40 EACH

DL07 SHOOT BOLT GUIDE £9.50 EACH

DL09 COMPRESSION SPRING £1.73 EACH

DL10 DOOR LATCH GUARD £1.63 EACH

DL12 DOOR LEVER KNOB £5.66 EACH

DOOR LATCH ASSY - P DOOR LATCH ASSEMBLY - PORT £119.70 EACH

DOOR LATCH ASSY - S DOOR LATCH ASSEMBLY - STBD £119.70 EACH

DOOR LOCK XS DOOR LOCK £9.60 EACH

DOWEL 1" OD WOOD DOWEL X 3" LONG £1.12 EACH

DPR9EA ROTAX SPARK PLUG 914 £7.29 EACH

E-95633-03 TYGON TUBE £0.16 INCH

EL01 WIRING LOOM - MOD 60 £34.80 EACH

EL02 WIRING LOOM FOR MOD 61 INC HORN £34.80 EACH

EUR001 1/4" WASHER TABLE 4 - ZNP £0.02 EACH

EUR002 5/16" X 2" UNF HT SETSCREW £0.36 EACH

EUR003 3/16" X 1/2" OD WASHER £0.01 EACH

EUR004 1/2"X 1-1/2" ZNP REPAIR WASHER £0.30 EACH

EUR005 9.5MM BUNGEE - MONO UNDERCARRIAGE £3.75 FEET

EUR006 PLAIN WASHER 21MM x 10MM ID £1.43 EACH

EUR007 SPIROL PIN - 3/16 X 1/2 MDK £0.23 EACH

EUR008 TUFNOL - 83 X 75 X 1 MM THICK £1.75 EACH

EUR010 CUDDLE WASHER MATERIAL 1/8" PLATE £1.39 EACH

EUR011 1/8 ID X 3/8 OD .032" 1/8 LIGHT PLAIN TABLE 4 FLAT £0.37 EACH

EUR012 5/16" X 1" WASHER ZNP £0.06 EACH

EUR013 BUNGEE - 11.5MM TRI SHOCK ABSORBER £6.40 METRE

EUR014 1 1/4" BMS WASHER LT TBL 3 £0.73 EACH

EUR014/2 MACHINED WASHER £6.20 EACH

EUR018 WASHER - 3/8" PLAIN ZNP £0.06 EACH

EUR020 3/16" X 1"  WASHER £0.06 EACH

EUR021 3/8" THIN WASHER £0.02 EACH

EUR022 FRICTION WASHER £0.09 EACH

EUR023 SCREW - 1/4" UNF X 1 1/2" ZNP £0.95 EACH

EUR024 WOODSCREW - NO 8 X 3/4" BZP ROUND HEAD SLOTTED £0.45 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

EUR025 1.5"x1/16x16" LONG EQUAL ANGLE £26.46 EACH

EUR026 3/8" UNC X 5" HT HEX HD BOLT £1.50 EACH

EUR027 3/8" UNC NYLOC NUT £0.09 EACH

EUR027/2 3/8" UNC BINX LOCKING NUT £0.39 EACH

EUR028 SPLIT PIN 3/32" X 1 1/2" SS £0.31 EACH

EUR029 5/16" X 2 1/4" UNC BOLT £1.15 EACH

EUR030 1/2" UNF X 1" S/H CAPSCREW £1.55 EACH

EUR031 1/8" X 1 3/4" SS SPLIT PIN £0.51 EACH

EUR033 3/8" X 1" REPAIR WASHER £0.22 EACH

EUR034 TW COMPRESSION SPRING £42.84 EACH

EUR035 3/8" UNC 4.5" ZINC PLATED £0.32 EACH

EUR036 1/2" X 1" ZINC PLATED WASHER £0.04 EACH

EUR037 3316 PRE ASSEMBLE NUTS £0.04 EACH

EUR038 GREASE NIPPLE - 1/4" BSF £0.29 EACH

EUR039 1/2" UNC PLAIN NUT £0.14 EACH

EUR040 DUMMY SPAR £25.00 EACH

EUR041 10 X 1" SELF TAPPING SCREW PAN POZI £0.06 EACH

EUR043 1.5" EQUAL ANGLE X 1/16" X 3.25" ALUMINIUM £5.39 EACH

EUR044 1/4" UNF X 2" SKT HD CAPSCREW £1.95 EACH

EUR045 3/16" UNF X 2" SKT HD CAPSCREW £0.86 EACH

EUR046 1/4" UNF PLAIN NUT £0.02 EACH

EUR047 1/2" UNC BOLT 5" LONG £4.50 EACH

EUR049 BROWN FOAM 3MM 10" X 2" £5.54 EACH

EUR050 MONO BRAKE MASTER CYL LIPSEAL £2.09 EACH

EUR051 MONO BRAKE MASTER CYL O-RING £2.42 EACH

EUR054 12" LENGTH OF TU43RM SS .25 X 0.049 GRADE 304 £26.91 EACH

EUR056 10-32 UNF ROD 1.5" LONG £0.80 EACH

EUR057 MDF - 3" X 2" X 1/2" THICK £12.92 EACH

EUR058 1/4" UNF THREADED ROD 5" LONG £2.69 EACH

EUR059 REDUCING TEE - 1/2"X1/4"X1/2" £1.51 EACH

EUR060 SPACER - SEAT BELT £2.85 EACH

EUR061 5/16" UNC X 1 1/2" BOLT ZNP £0.36 EACH

EUR062 5/16" UNF X 1" C/SUNK BOLT £0.98 EACH

EUR063 2.5MM ID X 6.5MM OD X 0.5MM WASHER £0.01 EACH

EUR064 EYEBOLT - 7/16" UNF £5.50 EACH

EUR067 M12 WASHER FORM C £0.10 EACH

EUR068 PIP PIN - 2" - DOUBLE ACTING £29.95 EACH

EUR069 S/S M5 x 15 WASHER £0.05 EACH

EX08 TAIL PIPE 914 £77.15 EACH

EX912/1 XS 912 EXHAUST SYSTEM £841.25 EACH

EXPANCEL SURFACE FINISHING FILLER 806 £39.95 KG

F09 FUEL TANK £218.00 EACH

F09A FUEL TANK OUTLET FITTING £3.98 EACH

F09B FUEL TANK VENT FITTING £6.00 EACH

F09C FUEL TANK DRAINABLE HOSE £17.40 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

F09D FUEL DRAIN VALVE FITTING £6.00 EACH

F09E ASSY F09E FUEL ASSEMBLY £42.50 EACH

F10 FUSELAGE STERNPOST £150.47 EACH

F11P DOOR MOULDING - PORT £647.29 EACH

F11S DOOR MOULDING - STARBOARD £647.29 EACH

F14T TRI GEAR INSTRUMENT POD £560.00 EACH

F15MOD ROTAX UPPER COWLING - XS £338.64 EACH

F15MOD/A SPLASH MOULDING 912S/912 UPPER COWL £60.21 EACH

F15MOD/HT UPPER COWLING - XS HI TOP £338.64 EACH

F16MOD ROTAX LOWER COWLING - XS £586.90 EACH

F16MOD/A SPLASH MOULDING 912S LOWER COWL £60.21 EACH

F17 CLASSIC SPINNER MOULDING £97.94 EACH

F17A CLASSIC SPINNER BACK PLATE £65.86 EACH

F17B CLASSIC SPINNER FRONT PLATE £65.00 EACH

F19 FIN TIP £62.56 EACH

F23 XS FUEL INLET HOSE COVER £94.73 EACH

F24 HIGH TOP FUSELAGE SECTION £174.75 EACH

F25 REAR BULKHEAD £155.45 EACH

F26 CEILING PANEL £70.65 EACH

F27 CEILING HEADSET MOULDING £62.25 EACH

F27 HARDWARE HARDWARE FOR F27 INSTALLATION £7.78 EACH

f28 FINGER BRAKE MOUNTING £85.40 EACH

f29 FINGER BRAKE COVER £58.96 EACH

f30p HEADREST COVER - PORT £158.00 EACH

F30S HEADREST COVER -STBD £158.00 EACH

F31 BATTERY TRAY £62.19 EACH

F32 BATTERY STRAP £4.80 EACH

F33P DOOR LATCH COVER - PORT £53.40 EACH

F33S DOOR LATCH COVER - STBD £53.40 EACH

F35P DOOR RECESS MOULDING PORT £59.21 EACH

F35S DOOR RECESS MOULDING STBD £59.21 EACH

F36P DOOR SILL SPLASH (MOD) PORT £92.57 EACH

F36S DOOR SILL SPLASH (MOD) STBD £92.57 EACH

F37P DOOR STRUT MOULDING - PORT £65.85 EACH

F37S DOOR STRUT MOULDING - STBD £65.85 EACH

F38P DOOR RECESS COVER MOULDING - P £26.80 EACH

F38S DOOR RECESS COVER MOULDING - S £26.80 EACH

F39 CONTROL COLUMN GAITER MOULDING £22.75 EACH

F41 PUSHROD COVER (MOD 76) £57.07 EACH

FIREWALL FABRIC FIREWALL FABBRIC X 40" £13.82 EACH

FL1 FLAP HINGE PLATE £6.22 EACH

FL10 SLEEVE £3.19 EACH

FL11 PLASTIC WASHER £0.05 EACH

FL12 SLEEVE £6.95 EACH

FL13 SPACER £2.21 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

FL14 SPACER £4.03 EACH

FL15 FLAP CROSS TUBE £105.95 EACH

FL16 FLAP HINGE ARM £14.02 EACH

FL17 BEARING HOUSING £4.44 EACH

FL17 SPECIAL LONGER BEARING HOUSING £17.14 EACH

FL18P FLAP HINGE BRACKET £10.75 EACH

FL18S FLAP HINGE BRACKET £10.75 EACH

FL19/2 FLAP ACTUATING HORN MTG PLATE £7.18 EACH

FL2 FLAP HINGE PLATE £6.22 EACH

FL20/2 LA FLAP PUSH ROD £110.00 EACH

FL21 FLAP OPERATING HORN £4.79 EACH

FL22 FLAP OPERATING PIN £20.55 EACH

FL23 SLEEVE £1.73 EACH

FL24 RETRACTION LEVER GUIDE PLATE £9.26 EACH

FL25 RETRACTION LEVER RUBBING STRIP 170 X 25 X 12MM THICK TUFNOL £6.27 EACH

FL26 MOUNTING BKT FLAP ACTUATOR £17.67 EACH

FL27/2 LINEAR ACTUATOR - FLAP DRIVE PUSHFLEX 120S 100MM 12V DC £212.50 EACH

FL29 FLAP ANGLE INDICATOR LABEL £5.50 EACH

FL3 FLAP HINGE PLATE £6.66 EACH

FL30 ADAPTOR £13.43 EACH

FL7 PLATE £3.55 EACH

FL9 BEARING BUSH £2.39 EACH

FLCP08 QUICK RELEASE FUEL LINE COUPLER £19.00 EACH

FLOX COTTON FLOCK (1 LB) £7.13 EACH

FOAM 1600 X 150 X 3MM MOD 64 KIT £23.54 EACH

FS02 FUEL FLOW RESTRICTOR £5.31 EACH

FS03 LONG RANGER TANK (MONO) £135.00 EACH

FS04 LONG RANGER FUEL TANK CAP £5.00 EACH

FS05 VITON RUBBER GASKET £4.07 EACH

FS06 STRAP - LONG RANGER TANK - LONG £10.20 EACH

FS07 STRAP - LONG RANGER TANK - SHORT £8.50 EACH

FS08 SPACING WASHER LONG RANGER TANK £0.72 EACH

FS09 SPLIT RING £4.34 EACH

FS10 FUEL LEVEL SENDER WITH 1 GASKET & FLANGE £60.80 EACH

FUEL GAUGE VDO 0-190 OHMS £38.87 EACH

fuel press kit 1 FUEL PRESSURE GAUGE KIT 912/S 2 1/4" GAUGE £197.50 EACH

FUEL PRESS KIT 2 FUEL PRESSURE GAUGE KIT 914 2 1/4" GAUGE £332.26 EACH

FUEL PRESSURE KIT 3 FUEL PRESSURE GAUGE KIT 912S 1 1/4" GAUGE £357.63 EACH

FUEL PRESSURE KIT 4 FUEL PRESSURE GAUGE KIT 914 1 1/4" GAUGE £261.81 EACH

FUNNEL 160MM DIA FUNNEL £10.95 EACH

FW02 STAINLESS STEEL 12" X 15" £6.14 EACH

FW03 STAINLESS STEEL 12" X 24" £9.78 EACH

GA 02 G/WING AILERON DRIVE PLATE £3.50 EACH

GA01 AILERON PUSH ROD IDLER £4.85 EACH

GA04 LEAD WEIGHT - GLIDER WING £7.89 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

GAB 04B GLIDER WING CABLE DRIVE LUG £0.67 EACH

GAB 04C GLIDER WING CABLE DRIVE LUG £1.15 EACH

GAB 04D GLIDER WING END PLATE £2.20 EACH

GAB01L BRACKET £2.14 EACH

GAB01R BRACKET £1.27 EACH

GAB02 AIRBRAKE CONNECTING LUG £7.61 EACH

GAB06 AIRBRAKE LEVER £31.44 EACH

GAB07 AIRBRAKE BELLCRANK £4.78 EACH

GAB08 AIRBRAKE STOP SUPPORT £3.12 EACH

GAB09 AIRBRAKE BELLCRANK STOP £6.31 EACH

GAB12 AIRBRAKE CABLE BRACKET £12.72 EACH

G-AMBW GLIDER AILERON BALANCE WEIGHT FOAM SUPPORT £19.80 EACH

GAUZE FUEL STRAINER GAUZE £0.35 EACH

GE12E SKF BEARING £7.68 EACH

GREASE GUN 100CC GREASE GUN £13.50 EACH

GS 8699-1 GAS SPRING £47.76 EACH

GS12 BUSH INNER £13.44 EACH

GS13 BUSH OUTER £10.08 EACH

GS86991 BALL END GAS STRUT MALE END FITTING £4.50 EACH

GS86991 METAL ENDS GAS STRUT ENDS - METAL £4.50 EACH

GS86991 PLASTIC ENDS GAS STRUT ENDS - PLASTIC £3.75 EACH

H-5000-2 FLUSH LATCH £11.43 EACH

HARNESS SAFETY HARNESS £48.86 EACH

HEADSET MOULDING KIT HEADSET CEILING PANEL INSTALL KIT £7.78 EACH

HEF3-8 FEMALE SWIVEL STRAIGHT 1/2" BSP FOR 1/2" HOSE £12.93 EACH

HEF93-8 FEMALE SWIVEL 90° 1/2" BSP FOR 1/2" HOSE £7.52 EACH

HFBB 2B-2B 1/8" BSP BULKHEAD FITTING £3.84 EACH

HFBB 6-6 1/4" HOSE BULKHEAD FITTING £3.53 EACH

HFBP 6-6 BULKHEAD FITTING - 1/4" HOSE £5.24 EACH

HFEP 10-4N ELBOW - 3/8" HOSE X 1/4" NPT £1.06 EACH

HFEP 13-6N ELBOW - 1/2" HOSE X 3/8" NPT £2.02 EACH

HFEP 16-6N ELBOW - 5/8" HOSE X 3/8" NPT £50.30 EACH

HFIP 3-3 1/8" IN LINE CONNECTOR £0.85 EACH

HFRP 12-8 12MM - 8MM REDUCER £3.22 EACH

HFRP 5-3 5MM - 3MM REDUCER £3.07 EACH

HFRP 6-3 1/4"- 1/8" REDUCER £0.75 EACH

HFSA 2N-2N PIPE COUPLING £38.14 EACH

HFSB 3-2B UNION - 1/8" HOSE X 1/8" BSP £5.41 EACH

HFSB 6-2B UNION - 6MM HOSE X 1/8" BSP £4.45 EACH

HFSB 6-2N UNION - 6MM HOSE X 1/8" NPT £1.06 EACH

HFSB 8-2N UNION - 8MM HOSE X 1/8" NPT £3.60 EACH

HFSB 8-4N UNION - 8MM HOSE X 1/4" NPT £1.66 EACH

HFSCB 6x4-2B 1/8"BSP STUD COUPLING 6/4 TUBE £1.61 EACH

HFSP 10-4N UNION - 3/8" HOSE X 1/4" NPT £2.40 EACH

HFSP 3-2N UNION - 3MM HOSE X 1/8" NPT £1.25 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

HFTP 10-6-10 10MM X 6MM HOSE REDUCING TEE £5.02 EACH

HFTP 3-3-3 1/8" HOSE EQUAL TEE £1.30 EACH

HFTP 6-6-6 6MM HOSE EQUAL TEE £1.45 EACH

HFTP 8-6-8 8MM X 6MM HOSE REDUCING TEE £2.92 EACH

HFTP 8-8-8 EQUAL TEE 8MM HOSE FITTING £3.45 EACH

HFTS 6-6-6 EQUAL TEE 6MM £5.78 EACH

HOSE 51mm X 66mm PLENUM HOSE £1.95 INCH

IH-000 6MM FUEL HOSE £5.95 METRE

IH-001 8MM FUEL HOSE £6.10 METRE

IM01B INSTRUMENT BLANKING PLATE £9.35 EACH

IM01M INSTRUMENT PANEL CUT OUT MONO £39.00 EACH

IM01M BLANK INSTRUMENT PANEL BLANK - MONO £23.75 EACH

IM01M-D100 INSTRUMENT PANEL MONO DYNON £39.00 EACH

IM01M-JAB INST PANEL(MONO) - JABARU £37.44 EACH

IM01R INSTRUMENT REDUCING PLATE £11.40 EACH

IM01T INSTRUMENT PANEL CUT OUT TRI £37.00 EACH

IM01T-D100-V1 INSTRUMENT PANEL TRIGEAR DYNON VERSION 1 £39.00 EACH

IM01T-D100-V2 INSTRUMENT PANEL TRIGEAR DYNON VERSION 2 £39.00 EACH

IM01T-D100-V3 INSTRUMENT PANEL TRIGEAR DYNON VERSION 3 £39.00 EACH

IM01T-NH INSTRUMENT PANEL CUT OUT TRI- NO HOLES £22.85 EACH

IM02B BLANK FULL DEPTH AVIONICS PANEL £22.50 EACH

IM03M BLANK ENGINE INSTRUMENT PANEL BLANK - MONO £18.75 EACH

IM03MF ENGINE INSTRUMENT PANEL MONO/FLYDAT £21.00 EACH

IM03MV ENGINE INSTRUMENT PANEL MONO/VDO GAUGES £21.00 EACH

IM03T ENGINE INSTRUMENT PANEL BLANK £14.00 EACH

IM03TF ENGINE INSTRUMENT PANEL TRIGEAR/FLYDAT £21.00 EACH

IM03TV ENGINE INSTRUMENT PANEL TRIGEAR/VDO GAUGES £21.00 EACH

IM04 BLANK AVIONICS PANEL £16.00 EACH

IM04/EKP SHORT AVIONICS PANEL FOR AVMAP £20.21 EACH

IM04H BLANK AVIONICS PANEL WITH 52MM HOLE £18.50 EACH

IM05B BLANKING PLATE FOR AIRMASTER PROPELLER CONTROL HOLES £7.50 EACH

IM05M CONTROL PANEL - MONO £21.00 EACH

IM05T CONTROL PANEL - TRIGEAR £21.00 EACH

jamar to matco JAMAR TO MATCO MASTER CYLINDER CONVERSION KIT £476.77 EACH

JJ-033 MICROPHONE PANEL JACK £5.75 EACH

JJ-034 HEADSET PANEL JACK £6.74 EACH

KLNJ 1 1/2-2RS MONOWHEEL BEARING £36.00 EACH

knob a/b lever KNOB FOR AIRBRAKE LEVER £15.87 EACH

KNOB SET MONO KNOB SET FOR MONOWHEEL £51.00 EACH

KNOB SET TRI KNOB SET FOR TRIGEAR £27.50 EACH

LATEX GLOVES LATEX GLOVES BOX OF 100 £11.98 EACH

LB01 OIL TANK MOUNTING BRACKET £36.51 EACH

LC-042G-2 COMPRESSION SPRING FOR FUEL FILTER-STAINLESS £1.16 EACH

LG01/3 UNDERCARRIAGE MOUNTING FRAME - MONO £1,925.00 EACH

LG01B/P STRUT - PORT - MOD28 £7.50 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

LG01B/S STRUT - STBD - MOD28 £7.50 EACH

LG01T MOUNTING FRAME - NOSE GEAR £1,925.00 EACH

LG02/1 SWINGING ARM £317.78 EACH

LG02B BUNGEE ANCHOR TUBE £6.15 EACH

LG03 BEARING HALF £12.76 EACH

LG04 SWINGING ARM PIN £11.52 EACH

LG05-4 TOP REACTION PLATE - UNIVERSAL £73.85 EACH

LG06-5 SHOCK ABSORBER BLOCK £68.37 EACH

LG07-5 LOWER REACTION PLATE (POST MOD 37) £60.70 EACH

LG08P/1 RETRACTION LEVER - PORT £48.00 EACH

LG08S/1 RETRACTION LEVER - STARBOARD £48.00 EACH

LG09/1 RETRACTION ARM PIVOT (GROUND) £48.50 EACH

LG11 RETRACTION LEVER SUPPORT STRUT £7.20 EACH

LG12 RETRACTION GEAR LEVER £13.53 EACH

LG13 BRAKE OPERATING LEVER £2.79 EACH

LG14-2 SUPPORT £8.70 EACH

LG21 BRAKE CALIPER SLIDE BRACKET £21.14 EACH

LG27 BRAKE BLEEDER FUNNEL £19.99 EACH

LG29 LANDING GEAR LEVER KNOB £8.98 EACH

LG30 BRAKE LEVER HANDLE £14.69 EACH

LG31 REINFORCING TUBE £16.43 EACH

LG32 REINFORCING TUBE £30.00 EACH

LOGO - 12" DIAMETER EUROPA LOGO 12" £9.75 EACH

LP-1460HT HI TOP WINDSCREEN SOLAR GRAY £575.00 EACH

LP-1460HT BRONZE (2402) HIGH TOP WINDSCREEN BRONZE £374.92 EACH

M10 BINX NUT M10 BINX SELF LOCKING NUT BZP £2.55 EACH

M10 X 35 M10 X 35 SKT HEAD CAPSCREW £0.99 EACH

M10NYLOC M10 NYLOCK NUT £0.21 EACH

M10X110 M10 X 110 SKT HEAD CAPSCREW £1.22 EACH

M10X130 M10 X 130 SKT HD CAPSCREW £1.69 EACH

M10X40 M10 X 40 HEX HD BOLT STAINLESS STEEL £0.92 EACH

M10X55 M10 X 55 SKT HD CAPSCREW £0.41 EACH

M12 NYLOC M12 NYLOC NUT £0.21 EACH

M12 WASHER M12 PLATED WASHER £0.15 EACH

M12 X 170 M12 X 170MM HT BOLT £1.61 EACH

M4 NUT M4 THIN NUT ZINC PLATED £0.03 EACH

M4 SPRING WASHER M4 SPRING WASHER £0.01 EACH

M5NUT M5 THIN NUT SS £0.06 EACH

M5NYLOC M5 NYLOCK NUT £0.08 EACH

M5X60 M5 X 60MM ST ST BOLT £0.59 EACH

M6X60 BOLT - MS - ZNP £0.24 EACH

M8XM80 M8 X 80MM LONG BOLT  (PROP) £0.39 EACH

M8NYLOC M8 NYLOCK NUT £0.06 EACH

M8WASHER M8 WASHER- PLAIN ZNP £0.03 EACH

M8X100 M8 X 100 BOLT  ZNP £0.65 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

M8X25HEX M8 X 25mm BOLT £0.34 EACH

M8X35BUTTON M8 X 35 BUTTON HD SCREW £0.40 EACH

MAIN TUBE 8.00 X 6 INNER TUBE STRAIGHT VALVE £38.39 EACH

MAIN TYRE 8.00 X 6 TYRE AIRTRACK POA EACH

MAIN TYRE AIRTRACK 7.00 X 6 TYRE AIRTRACK POA EACH

MAIN WHEEL 8.00 X 6 WHEEL POA EACH

MCMC-4D MASTER CYLINDER - FINGER BRAKE £87.20 EACH

MG01A MAIN GEAR LEG £420.00 EACH

MG02 BRAKE TORQUE PLATE ASSEMBLY £66.40 EACH

MG03P PORT MAINGEAR SOCKET £76.25 EACH

MG03S MAIN GEAR LEG SOCKET STB £76.25 EACH

MIKALOR 40-43 PIPE CLIP FOR TAIL PIPE £6.67 EACH

MIX CUP  MIXING CUP PINT £0.65 EACH

MIX CUP HALF PINT HALF PINT MIX CUP £0.45 EACH

MIX STICK MIX STICK £0.05 EACH

MMA5-8-105S OIL COOLER ADAPTOR £9.30 EACH

MOD 33 KIT WATER DRAIN VALVES KIT £125.74 EACH

MOD 42 AIRBOX COLD AIR INTAKE KIT £292.83 EACH

MOD 43 TW ASSY NEW TAIL WHEEL ASSY £502.53 EACH

MOD 47 KIT XS LUGGAGE BAY KIT £940.00 EACH

MOD 49 KIT DUPLICATE FUEL FILTER KIT £21.85 EACH

MOD 50 KIT PITOT/STATIC KIT £104.46 EACH

MOD 51 KIT LANDING GEAR RETRACTION LEVER STRUT £22.30 EACH

MOD 52 KIT CLASSIC WEIGHT UPGRADE KIT £549.89 EACH

MOD 53 LONG RANGER TANK £296.93 EACH

MOD 54 CRANKED CONTROL COLUMN ASSY £135.00 EACH

MOD 58 TRIM TAB DRIVE PIN REPLACEMENT £36.28 EACH

MOD 59 NOSE WHEEL SHIMMY DAMPER MOD £15.75 EACH

MOD 60 KIT FUEL GAUGE ASSEMBLY - FLOAT TYPE £203.24 EACH

MOD 61A KIT STALL WARNER (NEW BUILD) £150.17 EACH

MOD 61B KIT STALL WARNER (RETROFIT) £141.81 EACH

MOD 62 3/8" REPLACEMENT TORQUE TUBE PINS £105.70 EACH

MOD 63 KIT - MONO PANEL CUTOUT WITH FASTENERS £85.20 EACH

MOD 63 KIT - NH PANEL CUTOUT WITH FASTENERS (UNDRILLED PANEL CUTOUT) £33.60 EACH

MOD 63 KIT - TRI PANEL CUTOUT WITH FASTENERS TRIGEAR £88.26 EACH

MOD 64 KIT HI TOP MOD KIT DEEP WINDSCREEN (MOD 64B) £1,310.30 EACH

MOD 65 (MATCO) KIT FINGER BRAKE KIT MATCO MASTER CYLINDERS £1,076.76 EACH

MOD 66 KIT GAS STRUT REPOSITIONING MOD £184.87 EACH

MOD 67 KIT COCKPIT WIDTH INCREASE MOD £533.09 EACH

MOD 67 NO AMPREG COCKPIT WIDTH INCREASE MOD (NO AMPREG) £468.50 EACH

MOD 68 KIT MONO TO CONVENTIONAL TAILDRAGGER KIT £374.77 EACH

MOD 69 KIT WING TIE DOWNS £144.47 EACH

MOD 70 KIT MASS BALANCE ARM MOD £236.66 EACH

MOD 70B MASS BALANCE MOD WITH TP18 F £289.43 EACH

MOD 71 KIT MOD 71 KIT £128.95 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

MOD 72 KIT MOD 72 KIT £36.45 EACH

MOD 73 PLACARD MOD 73 PLACARDS - SET 2 OFF £3.00 EACH

MOD 74 KIT MOD 74 KIT £122.33 EACH

MOD 74 POST MOD 52 MOD 74 KIT FOR POST MOD 52 A/C £51.59 EACH

MOD 75 KIT WING LEVELLING AUTOPILOT KIT £67.37 EACH

MOD 76 KIT ALTITUDE HOLD AUTOPILOT KIT £197.64 EACH

MOD 77 TAILWHEEL DRIVE (TRI) £280.57 EACH

MOD 77 (MONO) TAILWHEEL DRIVE (MONO) £377.29 EACH

MOD 78 INC RESINS MOD 78 GLIDER WING MOD INC RESINS £1,195.00 EACH

MOD 78 KIT GLIDER WING UPGRADE £869.14 EACH

MPG 10-35 MANIFOLD PRESSURE GAUGE 2.25"D 10-35IN POA EACH

MPG 10-50 MANIFOLD PRESSURE GAUGE 2.25" 10-50IN POA EACH

MPG KIT MANIFOLD PRESSURE GAUGE KIT POA EACH

MPG PLUMBING KIT MANIFOLD PRESSURE GAUGE PLUMBING KIT POA EACH

MS20392-5C35 PIVOT PIN £2.50 EACH

MS20392-5C37 PIVOT PIN £3.80 EACH

MS21042-08 STIFFNUT £0.34 EACH

MS21042-3 STIFFNUT #10-32 £0.46 EACH

MS21042-4 STIFFNUT - 1/4" £0.42 EACH

MS21042-5 STIFFNUT - 5/16" £0.59 EACH

MS21047-06 ANCHOR NUT - 6-32 £0.42 EACH

MS21047-080 ANCHOR NUT 1/8" £0.48 EACH

MS21047-3 ANCHOR NUT - 3/16" £0.59 EACH

MS21047-4 ANCHOR NUT 1/4" £0.41 EACH

MS21047-5 ANCHOR NUT - 5/16" £1.81 EACH

MS21051-06 ANCHOR NUT - 6-32 £0.90 EACH

MS21051-3 ANCHOR NUT - 10-32 £0.76 EACH

MS21051-L4 SINGLE LEG ANCHOR NUT £0.54 EACH

MS21919-D10 P CLIP £0.72 EACH

MS21919-D20 P CLIP £1.20 EACH

MS24665-153 SPLIT PIN £0.08 EACH

MS24693-S272 SCREW £0.17 EACH

ms24693-s274 CSK SCREW - 3/16" X 3/4" LONG £0.12 EACH

MS24694-S105 1/4 UNF CSK SCREW £0.29 EACH

MS24694-S106 CSK SCREW £0.29 EACH

MS24694-S58 BOLT £0.26 EACH

MS27039-0808 SCREW £0.10 EACH

MS33737-16C TINNERMAN NUT - INSTRUMENT PANEL £2.20 EACH

MS35207-266 MACHINE SCREW £0.11 EACH

MS35214-29 6-32 X 3/4" BRASS SCREW £0.24 EACH

MS35214-31 6-32 X 1" BRASS SCREW £0.24 EACH

MS35333-75 LOCK WASHER £0.21 EACH

MS-710 FUEL CONDENSATE TRAP £4.20 EACH

MT02 CUP WASHER - ENGINE MOUNT £5.46 EACH

MT03/3 SPACER - ENGINE MOUNT £5.67 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

MT04 VIBRATION ABSORBER - ENGINE MOUNTING FRAME £7.32 EACH

MTO1/914 ENGINE MOUNTING FRAME (912 & 914) POA EACH

MW4 ROD END BEARING £11.27 EACH

MW5 ROD END BEARING £8.66 EACH

N04-112U-007P-000 1 1/4" FUEL PRESSURE GAUGE POA EACH

N04118U007P010 1 1/4" DIFF PRESSURE GAUGE FOR 914 POA EACH

N04218U007P000 2 1/4" DIFF PRESS GAUGE POA EACH

N1EU07D SENDER 0-7PSI DIFFERENTIAL PRESSURE FOR 914 ENGINE POA EACH

N1EU07G SENDER 0-7PSIG FUEL PRESSURE FOR 912/912S ENGINE POA EACH

N7193 NITRILE LIPSEAL FOR 122BMC DTD585 £2.09 EACH

NA02 LUG PLATE AILERON DRIVE £2.81 EACH

NAS 1169C10 WASHER-CSK-S.S. A3235028935 WA-10 £0.28 EACH

NAS1473-A3 F1968-3 SEALED ANCHOR NUT £2.05 EACH

NG ASSY NOSE GEAR ASSEMBLY £836.52 EACH

NG01 NOSE GEAR ARTICULATION FRAME POA EACH

NG03 NOSE GEAR LEG POA EACH

NG04 NOSE GEAR FORK POA EACH

NG05 NOSE WHEEL SHIMMY DAMPER RING £14.75 EACH

NG06 NOSE WHEEL AXLE (OLD STYLE) £40.92 EACH

NG06 NEW NOSE WHEEL AXLE (NEW TYPE) £40.92 EACH

NG07 NOSE WHEEL SPACER £4.20 EACH

NG08 SHIMMY DAMPER PIN £5.20 EACH

NG09 NOSE WHEEL AXLE NUT £12.87 EACH

Nose Wheel Bearing NOSE WHEEL BEARING £19.25 EACH

NSP9640501S WING WALK TAPE 6" WIDE £4.75 FEET

OIL/12 CONTI 12 MM OIL HOSE £20.75 EACH

OR1 STRUT TOP FITTING £83.21 EACH

OR10 SPACER £1.69 EACH

OR11 SPRING £2.54 EACH

OR12 SPRING £2.81 EACH

OR2/2 XS NYLON OUTRIGGER LEG £20.00 EACH

OR3 WHEEL FORK £63.12 EACH

OR4/7 LATCH ARM £4.50 EACH

OR5 PULL PUSH BAR £4.23 EACH

OR6 STOP BLOCK £8.21 EACH

OR7A LATCH BLOCK SPACER £12.00 EACH

OR7B LATCH BLOCK £15.00 EACH

OR8 SPACER £1.24 EACH

OR9 SPACER £2.78 EACH

OWA1 OUTRIGGER WHEEL ASSEMBLY £10.00 EACH

P/S PLUMBING KIT PITOT-STATIC PLUMBING KIT £26.46 EACH

P34913114 BELLEVILLE WASHER £1.81 EACH

P408 008 6.4MM NYLON P CLIP £0.09 EACH

P408 020 12.7MM NYLON P CLIP £0.55 EACH

park brake valve kit PARK BRAKE VALVE KIT £119.97 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

PC01 PLENUM CHAMBER (CLASSIC) £204.39 EACH

PC02 PLENUM CHAMBER (XS) £204.39 EACH

PC03 PLENUM CHAMBER HOSE £5.40 EACH

PEEL PLY PEEL PLY GREEN £4.95 EACH

PHENOLIC PAD PHENOLIC PAD £6.27 EACH

PL01A LABEL - OCCUPANT WARNING £8.70 EACH

PL01B LABEL - FUEL SELECTOR £4.50 EACH

PL01C LABEL - THROTTLE £3.75 EACH

PL01D LABEL - DO NOT .. FLIGHT PORT £3.75 EACH

PL01E LABEL - DO NOT .. FLIGHT  STBD £3.75 EACH

PL01F LABEL - CONNECT PITOT £3.75 EACH

PL01G LABEL - STALL WARNER £3.75 EACH

PL01H PLACARD 58 LTRS £2.40 EACH

PL01J PLACARD 9 LTRS £2.40 EACH

PL01K PLACARD 15 GAL £2.40 EACH

PL01L PLACARD 2½ GAL £2.40 EACH

PL02A LABEL - FLAPS/LANDING GEAR £3.75 EACH

PL02B LABEL - BRAKE PULL £3.25 EACH

PL03A LABEL - PARK BRAKE £3.25 EACH

PL03B LABEL - BRAKES PULL ON £3.25 EACH

PL04A LABEL - MASTER/ALT (VERTICAL) £2.90 EACH

PL04B LABEL - MASTER/ALT HORIZONTAL £2.90 EACH

PL04C LABEL - FUEL PUMP 2 £2.90 EACH

PL04D LABEL - ENG INST/FUEL PUMP 1 £2.90 EACH

PL04E LABEL - ENGINE INST £2.90 EACH

PL04F LABEL - VOLTS £2.90 EACH

PL04G LABEL - OIL PRESS 2 - 5 £2.90 EACH

PL04H LABEL - OIL TEMP 50 - 140 £2.90 EACH

PL04J LABEL - COOLANT TEMP MAX 150 £2.90 EACH

PL04K LABEL - OIL TEMP 50 - 130 £2.90 EACH

PL04L LABEL - COOLANT TEMP MAX 135 £2.90 EACH

PL05A LABEL - FLAPS UP / DOWN £2.90 EACH

PL05B LABEL - AVIONICS MASTER £2.90 EACH

PL05C LABEL - 7 C/B LABELS (FLAPS TO FUEL QTY) £2.90 EACH

PL06A LABEL - STARTER / T/C £2.90 EACH

PL06B LABEL - MAX RPM 5800 .... £2.90 EACH

PL06C LABEL - MAX SL BOOST +0.35 £2.90 EACH

PL06D LABEL - TCU - DO NOT TURN ... ...BOOST LIMIT £2.90 EACH

PL06E LABEL - TCU £2.90 EACH

PL06F LABEL - ALT WARN £2.90 EACH

PL06G LABEL - START ENG'D £2.90 EACH

PL06H LABEL - FLYDAT WARN £2.90 EACH

PL06J LABEL - BLANK £2.90 EACH

PL06K LABEL - LOW OIL PRESS £2.90 EACH

PL06L LABEL - LO FUEL PRESS £2.90 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

PL06M LABEL - LOW VOLTS £2.90 EACH

PL06N LABEL - STALL WARN £2.90 EACH

PL06P LABEL - GPS £2.90 EACH

PL06R LABEL - ENG'D AUTOPILOT £2.90 EACH

PL06S LABEL - LANDING GEAR UNSAFE £2.90 EACH

PL06T LABEL - MAN PRESS MAX 38.4 £2.90 EACH

PL06V LABEL - AUTOPILOT £2.90 EACH

PL06W LABEL - EFIS £2.90 EACH

PL06X LABEL - STARTER/EFIS £2.90 EACH

PLCD 170-04V QUICK RELEASE FEMALE £9.50 EACH

PLCD 170-05V QUICK RELEASE FEMALE £12.30 EACH

PLCD 220-04V QUICK RELEASE MALE £9.95 EACH

PLCD 220-05V QUICK RELEASE MALE £13.06 EACH

PMC 17-02 FEMALE 1/8 COUPLING £8.00 EACH

PMC 17-04 6MM CONNECTOR £6.19 EACH

PMC 22-02 MALE 1/8 COUPLING £2.80 EACH

PMC 22-04 6MM CONNECTOR £1.96 EACH

PMC22-03 MALE 3/16" COUPLING £1.92 EACH

PRO 805 FUEL FILTER £13.99 EACH

PRO 896 FUEL FILTER ELEMENTS X 3 £5.50 EACH

PROP-BLADE SET WARP DRIVE TAPERED BLADES POA EACH

PVPV-D MATCO PARKING BRAKE VALVE £117.57 EACH

Q-CEL CONSTRUCTION FILLER (MICRO) £18.95 KG

RA018 1/8 NPT BLANKING PLUG £2.10 EACH

RAD 914 912/914 RADIATOR FOR NEW KIT £375.00 EACH

REAMER 16.5MM REAMER £65.50 EACH

RED TOP RED TOP 25 BATTERY POA EACH

REDUX ARALDITE 420 A/B £90.00 EACH

REGISTRATION LETTERS REGISTRATION MARKINGS £65.00 EACH

REPLACEMENT SEALS 122BMC DOT 3/4 £16.90 EACH

RG58C/U ANTENNA CABLE £1.45 METRE

RP3 PITCH TRIM INDICATOR £128.90 EACH

RS2 PITCH TRIM SWITCH £36.66 EACH

S/L NIPPLE SOLDERLESS NIPPLE £1.46 EACH

S01/6 1/2" HEADED BUSH £17.50 EACH

S02/3 SPAR CUP 1/2 HOLE £50.00 EACH

S03 SPACER £6.45 EACH

S07/3 1/2" SPAR PIN £19.04 EACH

S08 PIP PIN £38.15 EACH

S09 SPAR PIN LATCH £1.92 EACH

SAFETY HAMMER LIFE HAMMER £18.95 EACH

SERVO MAC TRIM TAB SERVO KIT £283.99 EACH

SEW-ON-BADGE EUROPA SEW ON BADGE LARGE £3.75 EACH

SK Mono MONOWHEEL SPEED KIT £520.00 EACH

SK Tri-Gear TRI-GEAR SPEED KIT £995.00 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

SK1 FUSELAGE FLAP HINGE FAIRING £56.27 EACH

SK10P TRI PORT WHEEL FRONT FAIRING £98.33 EACH

SK10S TRI STB WHEEL FRONT FAIRING £98.33 EACH

SK11 TRI NOSE WHEEL AFT FAIRING £85.00 EACH

SK12 RI NOSE WHEEL FWD FAIRING £65.00 EACH

SK13 MAIN GEAR LEG FAIRING LEFT £56.27 EACH

SK14 MAIN GEAR LEG FAIRING RIGHT £56.27 EACH

SK15 NOSE GEAR LEG FAIRING LEFT £56.27 EACH

SK16 NOSE GEAR LEG FAIRING RIGHT £56.27 EACH

SK17 NOSE GEAR LEG FAIRING FRONT £55.19 EACH

SK18 MAIN FAIRING INNER BRACKET £12.50 EACH

SK19 OUTBOARD SUPPORT £15.71 EACH

SK20 NOSE WHEEL FAIRING BRACKET £29.93 EACH

SK2P FLAP IN/PORT HINGE FAIRING £58.24 EACH

SK2S FLAP IN/STB HINGE FAIRING £58.24 EACH

SK3 FLAP MID HINGE FAIRING £58.24 EACH

SK4 OUTRIGGER HINGE FAIRING £91.03 EACH

SK5 OUTRIGGER WHEEL FAIRING £54.00 EACH

SK6 TAILWHEEL PORT FAIRING £56.27 EACH

SK7 TAILWHEEL STBD FAIRING £56.27 EACH

SK8 TRI OUTBOARD HINGE FAIRING £45.00 EACH

SK9P TRI PORT WHEEL REAR FAIRING £61.66 EACH

SK9S TRI STBD WHEEL REAR FAIRING £61.66 EACH

SMART-TOOL ELECTRONIC SMART TOOL SENSOR MODULE £107.00 EACH

SP4Y-B3 SHACKLE PIN 3/16" DIA £2.40 EACH

SP4Y-B7 CLEVIS PIN £3.83 EACH

SP90/F8 7/64" SPLIT PIN - SS 1" LONG £0.23 EACH

SPIROL6X55 SPIROL PIN 6 X 55 MM MDK £0.61 EACH

sprl cap only - XS XS NON LOCKING FUEL CAP £27.50 EACH

SPRL-L-G/S XS FUEL CAP ASSY LOCKING £60.00 EACH

SPRL-L-M XS LOCKING METAL FUEL CAP £64.80 EACH

SPRL-LOCKING XS LOCKING FUEL CAP £37.13 EACH

SQ1 SQUEEGEE -BODY FILLER SPREADER £0.60 EACH

SS502 LP FUEL PUMP - FACET £40.43 EACH

STANDARD PLACARD SET STANDARD PLACARD SET £39.50 EACH

T41780 RUDDER CABLE TENSION SPRING £2.54 EACH

TACHO ELECTRONIC TACHO POA EACH

TAIL TUBE TAILWHEEL TUBE - 2.50 X 3 £15.00 EACH

TAIL TYRE TAILWHEEL TYRE - 2.50 X 3 £32.40 EACH

TAPD46BS RIVET £0.10 EACH

TAPK33BS POP RIVET £0.14 EACH

TAPK36BS POP RIVET £0.09 EACH

TBG PLUMBING KIT TURBO BOOST GAUGE PLUMBING KIT £30.40 EACH

TGFL26 SPACER £10.37 EACH

TGTW05 BRAKE TOE BLOCK £17.45 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

TGW1 STRAP £4.21 EACH

TGW21 CONNECTOR PLATE £11.65 EACH

TH01 THROTTLE BOX MOULDING £56.52 EACH

TH02 THROTTLE LEVER £3.40 EACH

TH03/04-1.6M THROTTLE CABLE £26.21 EACH

TH05 SPACER £5.30 EACH

TH06 THROTTLE IDLE STOP £1.50 EACH

TH07 THROTTLE LEVER KNOB £6.48 EACH

TIRT1145L 11 X 4.00 - 5 TYRE 8 PLY (VARIOUS GRADES AVAILABLE) POA EACH

TIRT500X5 500 X 5" TYRE 4 PLY (VARIOUS GRADES AVAILABLE) POA EACH

TIRTU1145L 11 X 4.00 - 5  INNER TUBE POA EACH

TIRTU500X5 INNER TUBE 500 X 5 Inches POA EACH

TIRTU800X6/7 8X6 MAIN TUBE ANGLED POA EACH

TLPD419BS POP RIVET £0.14 EACH

TLPD424BS POP RIVET COMMERCIAL £0.36 EACH

TLPD429BS POP RIVET £0.26 EACH

TLPD435BS POP RIVET £0.18 EACH

TLPD440BS POP RIVET £0.24 EACH

TLPD524BS POP RIVET COMMERCIAL £0.20 EACH

TLPK424BS POP RIVET £0.17 EACH

TLPK429BS RIVET £0.16 EACH

TLPK435BS RIVET £0.18 EACH

TOROID FERRITE TOROIDAL CORE £0.70 EACH

TOTMP MAP POCKET £15.50 EACH

TP 35 DRIVE TUBE £46.05 EACH

TP 36 DRIVE PLATE £53.88 EACH

TP10 NYLON DISTANCE PIECE £9.98 EACH

TP12C DRIVE PIN £4.96 EACH

TP13 BUSH £13.76 EACH

TP14A TORQUE PIN OVERSIZE SHORT £6.24 EACH

TP14B TORQUE PIN OVERSIZE LONG £6.24 EACH

TP14C 3/8" TORQUE TUBE PIN SHORT £24.43 EACH

TP14C-10 10MM TORQUE TUBE PIN SHORT £14.88 EACH

TP14D 3/8" TORQUE TUBE PIN LONG £24.71 EACH

TP14D-10 10MM TORQUE TUBE PIN LONG £14.88 EACH

TP14E TORQUE PIN £25.00 EACH

TP18/6 T/P BALANCE ARM POST MOD 70 £161.90 EACH

TP19/1 TAILPLANE COUNTERWEIGHT £15.36 EACH

TP19A/1 TAILPLANE COUNTERWEIGHT £12.86 EACH

TP19B/1 TAILPLANE COUNTERWEIGHT £11.84 EACH

TP21 FLETTNER STRIP £10.00 EACH

TP36A DRIVE PLATE BASE £10.80 EACH

TP36B CONNECTOR TUBE £23.88 EACH

TP38 COLLAR £15.07 EACH

TP39 BEARING BUSH £33.21 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

TP4 TORQUE TUBE £230.00 EACH

TP5 INSERT TUBE £25.24 EACH

TP6/4 SUPPORT TUBE £14.08 EACH

TPA01 TAILPLANE TORQUE TUBE POA EACH

TRI CONVERSION (NO BRAKES) TRI CONVERSION KIT - NO BRAKES £3,875.00 EACH

TRI CONVERSION TOE BRAKES TRI CONVERSION KIT - TOE BRAKES £4,400.00 EACH

TRI CONVERSION FINGER BRAKES TRI CONVERSION KIT - FINGER BRAKES £5,190.00 EACH

TS01 TRIM BELLCRANK BRACKET £6.91 EACH

TS02 TRIM BELLCRANK BRACKET £6.61 EACH

TS03 TRIM BELLCRANK £5.49 EACH

TS04A TRIM DAMPER SHAFT £8.71 EACH

TS04B FRICTION WASHER £1.03 EACH

TS04C SPRING £3.43 EACH

TS05 TRIM TAB LINK ROD £109.53 EACH

TS06 TRIM LINK ROD BUSH £2.50 EACH

TU1 6061-T6 - 1" O.D. X .028" WALL X 2M £43.75 EACH

TU2 2024 T3 - .5" X .035" X 28" £32.35 EACH

TU21RM PVC TUBE 3MM X 6MM £0.95 METRE

TU23RM 6.5MM X 10MM POLYURETHANE TUBE £3.65 METRE

TU33RM COPPER TUBE - 1/4" OD X 22SWG £0.09 INCH

TU50RM PVC TUBE 5MM X 8MM £1.85 METRE

TU55RM NYLON BRAKE LINE 1/4" OD £0.70 FEET

TYRE VALVE EX TYRE VALVE EXTENSION £4.95 EACH

VAC SYS PLUMBING KIT VACUUM SYSTEM PLUMBING KIT £103.40 EACH

VACUM PUMP VACUM PUMP TO FIT ROTAX 912 POA EACH

W11 BRACKET £3.88 EACH

W12 BRACKET £3.99 EACH

W13 AILERON BELL CRANK £5.25 EACH

W14 BEARING SPACER £6.18 EACH

W15 BELLCRANK STOP £6.95 EACH

W16P BELLCRANK £13.35 EACH

W16S BELLCRANK £13.35 EACH

W17 END FITTING £14.23 EACH

W18 WING FLAP PLATE £6.56 EACH

W19 FLAP HINGE CONNECTOR £7.55 EACH

W20 FLAP HINGE CONNECTOR £7.35 EACH

W21 FLAP HINGE CONNECTOR PLATE £20.00 EACH

W22 PLATE £1.99 EACH

W23 PLATE £1.99 EACH

W24/7 REAR WING PIN £22.72 EACH

W25/4 WING LIFT PIN - LE £20.50 EACH

W25M78 WING FWD PIN ( POST MOD 78) £48.37 EACH

W26A BODY - WING TE DRAG PIN FITTING £22.95 EACH

W26B SOCKET - WING TE DRAG PIN FITTING £20.95 EACH

W26C BARREL - WING TE DRAG PIN FITTING £15.95 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

W27 WING LE DRAG PIN FITTING £14.88 EACH

W28 WING LE SHEAR PIN MODIFIED £48.37 EACH

W33 ASSY PITOT/STATIC HEAD £49.25 EACH

W33C STATIC HEAD INSERT £4.08 EACH

W34 WING TE TIE ROD END FITTING £21.94 EACH

W35 GUSSET PLATE £4.33 EACH

W35A GUSSET PLATE - UNDRILLED £3.03 EACH

W36 4130-.75" X .035"-- 41" LONG £35.00 EACH

W38 STALL WARNER TUBE £32.50 EACH

W39 END FITTING £8.20 EACH

W40 HOLE CUTTER £15.71 EACH

W41 TIE DOWN ASSEMBLY £50.00 EACH

WHLAN1H MAIN WHEEL AXLE NUT £19.61 EACH

WHLBRL-1 MATCO BRAKE RELINE KIT £33.00 EACH

WHLD5 BRAKE DISC FOR WHLW51L £57.50 EACH

WHLLM6700LA ROLLER BEARING 1.25 (FOR WHLW51L & WHLNW501.25) £25.87 EACH

WHLNW501.25 NOSE WHEEL INC BEARINGS £159.71 EACH

WHLW51L MAIN WHEEL INC BEARING & BRAKE £283.75 EACH

XA2 LUG PLATE AILERON DRIVE £2.25 EACH

XA4 LEAD WEIGHT £4.84 EACH

XLG12A RETRACTION LEVER SAFETY LATCH XS AIRCRAFT ONLY £4.16 EACH

XP-EUR006-01 TRIGEAR INTERIOR KIT £580.00 EACH

XP-EUR006-02 SEAT CUSHIONS PLAIN (SET 2 BACKS/BASES) £485.00 EACH

XP-EUR006-02 SEAT CUSHIONS WITH ACCENT COLOUR (SET 2 BACKS/BASES) £542.50 EACH

XP-EUR006-03 CLASSIC AIRCRAFT COVER LIGHT WEIGHT £247.50 EACH

XP-EUR006-04 XS AIRCRAFT COVER LIGHT WEIGHT £247.50 EACH

ALL WEATHER COVERS XS ALL WEATHER COVERS £699.50 EACH

XP-EUR006-05 CONTROL STICK GAITERS - HIDE £55.75 EACH

XP-EUR006-07 CENTRE CONSOLE - HIDE £299.75 EACH

XP-EUR006-08 CENTRE CONSOLE - PVC £215.00 EACH

XP-EUR006-09 TRIPLE AIR LUMBAR SUPPORT £75.38 EACH

XP-EUR006-10 SEAT BOLSTER CUSHION 1" £38.50 EACH

XP-EUR006-11 SEAT BOLSTER CUSHION 2" £50.95 EACH

XP-EUR006-12 PROPELLER COVER (3 BLADES) £105.95 EACH

XP-EUR006-13 WING COVERS (SET 2) XS £345.00 EACH

XP-EUR006-14 INTERIOR KIT MONOWHEEL £615.00 EACH

XP-EUR006-15 TAIL SECTION COVER £615.00 EACH

XS 912 FIREWALL FWD KIT 912 FIREWALL FORWARD KIT £4,165.00 EACH

XS 912IS XS 912IS FIREWALL FORWARD KIT - NEW FOR 2018 £3,520.00 EACH

XS 914 FIREWALL FWD KIT 914 FIREWALL FORWARD KIT £2,938.96 EACH

XS CS18P RUDDER PEDAL PORT OUTER £65.39 EACH

XS CS19P RUDDER PEDAL PORT INNER £95.99 EACH

XS F02A LUGGAGE BAY BULKHEAD £488.21 EACH

XS F17 XS SPINNER CONE £66.67 EACH

XS F17A XS SPINNER BACK PLATE £57.65 EACH

March 2018



Europa Parts Catalogue

Prices correct at time of print

Colour Code

TAILWHEEL

FIREWALL FORWARD

FUSELAGE

WINGS

RESINS, FABRICS & CONSUMABLES

ENGINE

PROPELLERS

MODIFICATION KITS

PLACARDS

UPHOLSTERY, CUSHIONS & COVERS

ALL 'AN', 'HF', 'M10' 'MS', 'PHENOLIC PAD', 'PMC', 'TAP', 'TLP',  PARTS IN WHITE ARE COMMON HARDWARE

ALL 'GA' RELATE TO GLIDER PARTS

ALL 'SK' PARTS ARE SPEED KIT PARTS

PART NO DESCRIPTION PRICE UOM

PRICES ARE EXCLUSIVE OF DELIVERY, VAT, CUSTOMS DUTIES/TAXES WHERE APPLICABLE

For multiple or batch orders phone +44 (0)1751 431773 or email karen.pool@europa-aircraft.com directly for discounted prices

Europa Aircraft reserves the right to change prices, terms or conditions at any time without prior notice

XS F17B XS SPINNER FRONT PLATE £52.50 EACH

XTW06 XS TAIL WHEEL SPRING £145.00 EACH

XTW07 ASSY TAIL WHEEL FORK ASSY £76.16 EACH

XTW08 TAILWHEEL SPACER £10.47 EACH

XTW09 RUDDER HORN £9.10 EACH

XTW10 ASSY RUDDER STOP PLATE ASSY £13.19 EACH

XTW11 SLEEVE £6.50 EACH

XTW12 NUT PLATE £6.68 EACH

XTW13 TAILWHEEL TOWING ARM SPACER £6.60 EACH

XTW14 PORT RUDDER STOP PLATE £5.94 EACH

XTW15 TAILWHEEL SPRING SUPPORT PLATE £5.03 EACH

March 2018


